                                          Exam II Stat 513 Fall 2008

                                                                                              ______________________

                                                                                                             name

1. What is the most common cause of white space on an X-bar chart?

2. Cp would be a good indicator of how well a process is performing if
X double-bar equaled

3. Can control charts help you reduce common cause variation?

4. Instead of computing hypothetical capability indices for an unstable process,
it is probably a better idea to

5. In the Six Sigma Handout, Failure Costs were divided into

6. We want relatively homogeneous conditions within each subgroup to insure
that the R chart reflects 

7. A lack of control is indicated whenever at least how many successive values fall

on the same side of the center line?

8. Once you have identified a specific problem to work on in a process, in order to

find the cause you would use a 

      9.   Is short term capability smaller than long term capability?   Yes        No 
10.      Given the following X-bar chart with control and spec limits as marked,               
     suppose that the operator was told to keep the process within the spec limits.

     UCL _____________________________________________________

     USL _____________________________________________________

     CL  ______________________________________________________

     LSL _____________________________________________________

     LCL _____________________________________________________

     Name exactly two problems this can cause.

        i)

        ii)

